Cf ’ TEJ I:Kl —7 HMQ-,& /E)

J) f(3x2—lg>4-3) 7

ﬁl, Lh'ﬂ& 122,):}_3
J Lz Ha'(m (IE>

(f),rf)v p (8¥-8x-3) = < )

l

(cf (3x‘n8$—3)>[§- = [
Y - szﬁj — ma’{wz“R) Q:W

ppeduce tes
(7)5 ’ (7"‘7“‘”)7“ = (f{lp))d, prhear
V. N Il
drgech pl

™ ol



P"“)l p (o)
(54 (P2
7 l
Wu, v |
— [ - [0\ = ([ p(Y)
] (\ (s
& ‘f K, [TJ ~7 szz [IE>
’ (50)57/ K\% — Rq
¥ "’_“7(‘{)37- t
| LoV
x 5, J [’f)s,o( A e/
2 2 %
45 Ly
| 2 T W € J
(7)457 7 . Oﬂ{l){@@gzﬁ;[\‘%/}o{/?"

(i mnghos b




WG 4

2)‘,‘,&,(0 /Wduu(, it £ ,{,,M,-.,_‘_ _
g U=V
1) Ydia bz Cf(“t +a/7,) = (f/t« +pl z»)
S——

2)Vaey Veell Glew) < a gle).
¢ - B[ = Hal,,, [R)

—{p (o) p 1)

L) = P

24 ’&M’M«’ : B'?C ’L.W HeAnz
peyy= w2t gl = x+2

& (¥dd) = (g j—) g (xe2) = (; Z

s = (1) - (52 12) o)

/

Rl s g~ Lomed o,
0?@°Id4,f Wéﬁ. foved Yo ”M‘f doriee >
(P-ﬁ > &’ 4’) () 47)[f) . (Pl-;q")[o) P(’)W/’)
7D (b ) () o
- (]”[0 ¢'10) Pl « 1)

P24 2\ pro)y~4)

(L ) (46 ) o)

o (2\ plo|



Checrne A4 2 (v 4 (2

/7

U e leacde,

Stae” al il (4) v T (2,)
nethe

7 (1) 3 (wy0,) € UrUh
plectuy) # gle) *qle)
1(2) Jaell Je el
¢law) 4 2pl)

b K.Ivx] 5K
¢ (p) = P-P2)
Shacs' ke (1) p )% VCR) = Xt

¢ (ptg) = g(R+xt1) = 37 =01
?{x?—) = 4-4{_
gty = 2.3

@R t@(xt) = 426 =0 # {p(f,«wt)sm

o) peta e antiral  pladuaks (2.
RS/ AR Mo S
>z S~ ——=

+0
W) el =P p2) + ¢(0) 92
7 el ) =P pR) < ¢(09(2) 0(002) + gind) 40




¢ B 1) —> Maly (R)

3%3
Aepedns, | Mina Aoy = 2015 .. (P)
’ ' s 2021 Lo
fidpo g By I3 —> (244
P | 4 2
S N Ao /
l.,// eDlpe o
oA Rt —tothate

_ /aa 2 ¢ QZ \
| 43 4« &5)
2, 0/

.Q
~_——
)

N

)
o)
e Vo 00
Ly, & :”%\Zi RS | (P/p> = /pcpo \ j‘
= Lo 0O }
o d 2045
5—‘ a = O Qo J( 4(‘ 7 4
=9 \ / ( /o%
/, - r J/ L/
~\ ,J.mfe—ﬁ
4, =~(2+a, 14, +q, a. Lbrrne

A ra /wcjp = 20/% 20

@, %°

2020
"’lal—l-ﬂz.&,__.‘a 45-70{ * at\f\‘f' ~e=- 22020 X




Sa'ng jpotd
A ST PR ¥ PR Sl /B St P S PR S
//7 ( s
g My 0020 prh
s Aol 2(945“}/
[
[ &
/ ZTQ," a’é Q3 2021 werev
- ( Htr. el
25 ag Q,’n
\ O rg 0
\ )
A = (4"6-) LeynRy g W’My
4,4,2',._.41,_%
~7 \
b e pOLRX, Lihlo
'
3142
mr C T
o [4]213]4 L 644234
o) | 31|42 — {1,2,34¢
Koy peptac Lap r )
m?/bué_' < 1
lg& A = ;11 /‘V,I/WF @4614) szz)-—-@&@@_>

GCes.

v poel perescre 4o w! =) ... .21







